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Math 11-3 (8:00 am)--Fall, 2023 Midterm 1II (45 minutes)
v D.C. Smolarski. 8.J. Friday. November 3, 2023

dy ; .
g 36 L. (12) Find E—r{ given ry® + 2%y = 6.

k3 /30 2. (14) Given f(x) = r* -1, (a) find the inverse function, and (b) show this new function
is, in fact, the inverse by evaluating f(2) and then evaluating the new function at f(2).
-~ ( ;
I$hHo s (12) Find —(C}-Zi given y = In([In(a?)] sin ).
1.
20[35 4. (12) Find %5’_
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].
\¢|20 5. (12) Find =2

e e e et 902
given y = warvcsin{a?).

i given y = arctan(3 sin{a?}).
dx
20 /30 6. (12) Given that y = aresin(2?), find the corresponding value of coty {without any
EALISST inverse trig functions in the answer).
~TIE
. 7.
7 20
£ / 8. (12) The cross section of an artery can be imagined to be a circle. Suppose the radius
30 of a given artery is 1 & e and that fatty deposits are being uniformly built up inside
HeRD ECT  the artery at the rate of 0.2 cm per month. When the deposit is 0.4 cm thick, at what
rate is the cross-sectional area (which is still open) of the artery changing?

REMEMBER!

== Please start EACH problem on a NEW PAGE SIDE!

= PLEASE label {or nnderline or ihox in|) all ANSWERS clearly.
= Remember to show all work for full credit.

== ALSQO remember. NO CALCULATORS!

(14) Find the equation of the line tangent to the curve y = In(2?) at = e.

Thanks.
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